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SOCIOLOGY
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

Arrange in the logical order in which
P. Berger has explained.

(A) Habitualization,
institutionalization,
legitimation, externalization

(B) Institutionalization,
legitimation, externalization,
habitualization

(C) Habitualization, legitimation,
externalization,
institutionalization

(D) Legitimation,
institutionalization,
habitualization, externalization

Which of the following categories
can be placed in Althusser’s concept
of ideological state apparatus ?

1. Education

ii.  Family

iii.  Religion

iv.  State bureaucracy

Select the correct answer from the
codes given below :

Codes :
(A) 1L,ii&iv (B) i,iii &iv
(C) 1,1 &iii (D) i, &iv

Which of the following methods used
by H. Garfinkel in his exposition of
ethnomethodology ?

i.  The Documentary Method

ii. The Breaching Experiments

iii. The Reciprocity of Perspectives
iv. The Etcetera Principle

Select the correct answer from the
codes given below :

Codes :

(A) 1,11 &iii
(B) i1 &iv
(C) i,ii&iv
(D) 1,11, 1l & iv
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Which of the following crises are

stated by J. Habermas ?

1. Economic crisis

ii.  Political crisis

iii.  Legitimation crisis

iv.  Rationality crisis

(A) Economic crisis, political crisis
and rationality crisis

(B) Economic crisis, legitimation
crisis and rationality crisis

(C) Political crisis, legitimation
crisis and rationality crisis

(D) Economic crisis, political crisis
and legitimation crisis

Which of the following books are not

written by F. Goffman ?

1. Relations in Public

i1i.  Behaviour in Public Places

ii.  Forms of Talk

iv. Social Behaviour Its
Elementary Forms

Select the correct answer from the

codes given below :

Codes :

(A) 1,11 &iii (B) iLii&iv

(C) i, &iv (D) 1,1 &iv

To A. Giddens socral theorizing
involves

(A) Single hermeneutic

(B) Double hermeneutic

(C) Dialectical hermeneutic

(D) Historical hermeneutic

Who among  the  following
distinguishes three components of the
life world — culture, society and
personality ?

(A) A. Shutz

(B) E. Husserl

(C) P.Berger

(D) J. Habermas
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10.

Giddens’ concept of regionalization
implies that

(A) the reproduction of relations
not only across time but also
space.

(B) the process of social change is
limited by regions.

(C) a regional society starts
influencing other societies.

(D) the mainstream
acquires  the
regional societies.

society
features of

In defining nationalism A.R. Desai is
influenced by

(A) S.M. Lipset
(B) E.H. Carr
(C) M. Weber
(D) L. Althussar

Match the List — I with the List —II :

List—1 List — 11
(Contributors) (Approaches)
a. D.Learner i. Development
of
Underdevelop

b. B. Hoselitz
c. A.G.Frank iii. World System
d. 1. Wallerstein iv. Diffusion

i1. Ideal typical

Mark the correct answer from the
codes given below :

Codes :

(A i i i v
B) i i i v
©) iv i i i

D) v m 1 1
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11.

12.

13.

Which of the following statements is
incorrect with regard to D.P.
Mukherjee ?

(A) He uses the
approach.

dialectical

(B) He combines Marx’s, Dilthey’s
and Vedanta’s approaches.

(C) Traditions can be distinguished
between primary, secondary
and tertiary.

(D) Modernity can be understood
independent of tradition.

In which of the following sequences
are  ‘Demographic  Transitions’
traditionally associated ?

(A) High fertility, low mortality,
high population growth

(B) Low mortality, low mortality to
high fertility

(C) High fertility, high mortality to
low mortality and low fertility,
the later lagging behind

(D) Low fertility, high mortality to
low fertility and low mortality
with mortality lagging behind

Which of the following concept does
not figure in Malthusian Theory of
Population ?

(A) Arithmetic progression
(B) Positive checks

(C) ‘Stable population’

(D) Preventive checks
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14. Match the items in List — I with the

15.

items in List — II and choose the right
answer from the codes given below :

List -1 List — 11
a. Crude Rate i. The number of
live births per
1000
population in a
given year
b. General i1i. The number of
Fertility deaths of
Rate babies under
age | year per
1000 live
births in a
given year
c. Infant ii1. The number of
Mortality live births per
Rate 1000 women
in 15-44 or

15-49 years in
a given year

d. Birth Rate iv. Rate of any
demographic
event
computed for
an entire
population

Codes :

a b c d

(A) iv il i i

B) i1 1 iv il

(©) i iv i i

D)y i i i v

‘Population pyramids’ reveals the

following information :

(a) Dependency burden

(b) Birth and Death rate

(c) Sex ratios of different ages

(d) Approximate life expectancy of
birth

From the above, find the combination

for correct answer :

(A) (a)and (b) but not (c) and (d).

(B) All (a), (b), (c) and (d).

(C) (a)only but not (b), (c) and (d).

(D) (c)and (d) but not (a) and (b).
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16. Match the items in List — I with the

17.

items in List — II and choose the right
answer from the codes given below :

List -1 List — I1
(Books) (Authors)
a. From Population i. K.
to People Srinivasan
b. Gender ii. T. Malthus
Inequalities and
Demographic
Behaviour
c. Essayon iii. S. Desai
Principle of
Population
d. Regulatory iv. A. Bose

Reproduction in
India’s
Population
Codes :

a b c d
(A) iv i il i
B) i i i v
(C 1 v 1 i
(D) i1 1 v il

Match Item — I with Item — 11 ;

Item — I Item — 11
(Concept) (Explanation)
a. Deviance i. Lack of
social norms
b. Crime ii. Non-
conformity
c. Anomie iii. Act that
contravenes
the law
d. Alienation iv. Self
estrangement

Codes :
a b c d
(A) 1 i iv
B) 1w 1 iv 1
(C) 1 i 1 v
D) v 1 1 1
J-05-13
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18.

19.

20.

Who among the following is
associated with the idea of ‘Risk
Society’ ?

(A) H.S. Becker

(B) Ulrich Beck

(C) Denial Bell

(D) Susan Baker

Assertion (A) : Ecology movement
are emerging from conflict
over natural resources and
people’s right to survival.

Reason (R) : Population increase is
responsible for depletion of
natural resources and
environmental degradation.

Tick the right code given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.
(D) (A) s false, but (R) is true.

Talcott parsons have mentioned
pillars of the sick role for the patient :
Find out the correct combination.

1. Sick person is not personally
responsible for being sick.

ii.  Person is responsible for
his/her sickness.

iii.  The sick person is entitled to
certain rights and privileges.

iv.  The sick person must work to
regain health by consulting a
doctor.

Codes :

(A) 1,1iand iii
(B) ii,iiiand iv
(C) i,iiiandiv
(D) iii,iandii

Paper-I11

21.

22,

23.

24.

Assertion (A) Technological
advances have been taking

place rapidly.

Reason (R) : It has been due to the
convergence of
telecommunications and
computing technology known
as information and

communication technologies.
Answer by using the correct code
from the following :

Codes :
(A) (A) is correct and (R) is its
reason.

(B) Both (A) and (R) are false.

(C) (A) is true, but (R) is not its
correct reason.

(D) (A)is false, but (R) is true.

Who among the following did not
favour hierarchization of knowledge ?
(A) E. Durkheim

(B) A.Comte

(C) M. Weber

(D) M. Foucault

Match List — I with List — II and find
out the correct answer from the codes
given below :

List—1 List — 1T
(Concepts) (Authors)
a. Sexuality i. U. Beck

b. Risk society  ii. M. Foucault
c. Communicative iii. J.

action Baudrillard
d. Hyper reality  1v. J. Habermas
Codes :

a b c d
(A) 1 ER A S 111
B) i i v
©) i il i v
(D) iv 1 il i
Who among the following theorists
sees contemporary society as a death
culture, with death being the
‘paradigm of all social exclusion and
discrimination” ?
(A) J. Baudrillard
(B) U. Beck
(C) M. Foucault
(D) J.F.Lyotard
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25.

26.

27.

Which one of the following was not
specified as an objective of social
development by  the World
Development Summit (1995) ?
(A) Economic protectionism
(B) People empowerment
(C) People’s initiatives
(D) Strengthening the capacities of
the people
Match the items of List — I with those
of List — II and find out the correct
answer from codes given below :
List — 1 List — 11
(Scheme / (Year)
Programme)
a. National Education 1. 2002
Policy
b. National Literacy 1. 1988
Mission
c. National Health 1ii. 1986
Policy
d. National Perspective iv. 2001

Plan for Women’s
Development
Codes :

B) i i i v

Match List — I with List — IT and give

the correct answer from the codes

given below :

List—1I

a. 73" 1.
Constitutional
Amendment

b. The Gyandoot ii. Women’s
Project empowerment

¢. Human 1il. e-commerce
Development
Reports

d. Sale or
purchase of
goods or
services
through the
internet

Codes :

List —II
e-governance

iv. UN.D.P.

B) i i i v

(D) iv il i i
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28.

29.

30.

31.

Intersubjective  consciousness  in
every day life is the core area of
focus of the

(A) Phenomenologist

(B) Behaviouralist

(C) Cultural pluralist

(D) Human ecologist

Which one of the following is not
correct about P. Berger and T.

Luckman’s understanding of

knowledge ?

(A) They are unconnected with
validity of knowledge.

(B) They are deeply concerned
about the validity of
knowledge.

(C) They are concerned with the
processes through which any
body of knowledge get
recognized as reality.

(D) They focus not upon social
facts, but upon the creation of
social meaning in human
interaction.

Which of the following is considered

to be the ‘Tripartite Pillars of Schutz

Theory of Phenomenological

Sociology’ ?

(A) Life-world, other world and
natural attitude

(B) Artificiality, other world and
Intra-subjectivity

(C) Intra-subjectivity,
and cultural world

(D) Life-world, inter subjectivity
and natural attitude

life world

Who among the following is
considered to the founder of
phenomenological sociology ?
(A) J. Habermas
(B) A. Schutz
(C) H.R. Wagner
(D) K. Mannheim
J-05-13
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26. T — 1 H TR R g — 11 H T_

guferd Hife o) A= o T get @
et I AT

et -1 &=t - 11
(FNSTT / HTIHH) (@)
a. T2 foreT At i. 2002
b. UT WeRaT e i, 1988
c. T W@y it iii. 1986
d. T e o iv. 2001
TRged

E T

a b c d
(A) it i niv
B) i il i iv
©) v i1 1
(D) 1 i iv il

27. A — 1 H gE - 11 § gAfed Hisw

3R e feu T el @ Wl I A
i | et - 11
a. 73 G@iggm i € WA
EIE)
b. TR AT ii. wfgem
ESNIESET]
c. AHa o iii. T -y
PIRCEE]
d. STECHF AT jv. JUA S
T a1 FereT
= farsht a1 TWlig
T :

(=N

a b c d
(A) 1 i iv i
B) i il i v
) 1 1 v il
(D) v 1 o1 1
J-05-13
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28.

29.

30.

31.

ufared o g § 3id: ST dar
TeATeiad & T g T &1 eI §
(A) VIS

(B) SAHRINE

(C) Wpids Tgas

(D) THa WiEfdsies

frfefaa & @ &9 9 91 91, SoR 3%

. TR & T Pl TGiTehd HH & AT

Tl TR & 2

(A) 3 TH & = § oes ¢ |

(B) o W W fatAr=ar ¥
fafaa € |

(C) o 39 Uk ¥ Hetug €, S
e 9 Rt At % JE @
STEtereh 9 H TS STl § |

(D) S=iH A qel W AR sifug
O % GeaaeR | TS 379

F G W I T |

fffed & @ 9 TgenmE

TASRIE & I & fogid & Boeia

Y % T T GHS ST € 2

(A) Sier-fave, o= fava 3R Wi
st

(B) Ffman, ot fava R 3w
AT

(C) IiaT-3TeA=a, SieH-fave 3R
Giepiaes fava

(D) SfeA-fove, SfeR-3eA=ar 3K
Wik g

fefad & 9 9 voeanmEa
GATSTRIMTE bl S{ch JHESAT STl %‘?

(A) . T

(B) T e

(C) THIR. TR

(D) . BTETEH
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32.

33.

34.

Select the correct alternative about

Habermas’ reconstruction of
Marxism :
1. Purposive  rational  action

instead of superstructure
ii.  Symbolic interaction instead of

superstructure

1.  Societal modes of self-
reflection instead of class
consciousness

iv. Class competition instead of
class conflict

Select the correct alternative :
(A) 1,11, 1ii (B)
(C) 1i,iii, v (D)

1, 11, 1v
1, i, iii, iv
The

approach to
concerned with

ethnomethodology as an
study society is

(A) the fundamental bases of social
order

(B) issue of unequal distribution of
power and authority in society

(C) distribution of resources in
society

(D) shape up the social institutions
from historical perspective

Assertion (A) Women’s work
participation has substantially
increased in the informal sector
of economy in India.

Reason (R) : Education and skill

development opportunities
have expanded among rural
women.

Select the correct answer :

(A) (A) is correct and (R) is the
reason for (A).

(B) (A) is correct, but (R) is not the
correct reason for (A).

(C) Both (A) and (R) are correct.
(D) Neither (A) nor (R) is correct.

Paper-I11
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36.

37.

‘Women’s Rights are human rights’

as an international policy for
women’s empowerment was
accepted in an  International

Conference of Women held in
(A) Beijing

(B) Mexico

(C) Nairobi

(D) Copenhagen

Select the correct statements :

On the issue of low status of women
in family the socialist feminists argue
that gender inequality is

1. ideologically linked to their
predominant engagement with
household responsibility

ii.  due their predominant
engagement  with  unpaid
household activities

iii. due to the low income of
household

iv.  politically linked to their

political passivity
Select the correct alternative :
(A) iandii (B)
(C) iiandiv (D)

i1 and iii

11 and 1v

Which one of the following is not
correct with regard to the Liberal
Feminists view on the State ?

(A) The State is potentially a
neutral arbiter and lack any
ideology of its own.

(B) Men have captured the State.

(C) Men are pressure group,
women are observers.

(D) Women  should  embrace
strategies for meaningfully

access the state and influence
it.
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32.

33.

34.

SR & TIRIETE &% JAMFHEDT & 9§
T oo b =@ iy ;

i, ohREW W T 3R
i, oMUt ® S Udiehlcash
TR

iii. o TdAr H IS SeH-FadT

Gtk AT
iv. o ded i ST o uide
eI e B =@ iy ;
(A) i, ii, iii (B) i, ii, iv

(C) 1, 1il, 1v (D) 111,11, 1v

TS o 3T o [T AT aTERIeT U

SUFH % w9 § fFEfeied § ¥ fHeg

et € 2

(A) TMHEINTS T &F o 3MER

(B) TN H vIfeRd 3R 1 & 3TGHH
TRt =T T&aT

(C) TSt ¥ WQreAT & faeror

(D) UldeEe® gieshvr ¥ |HSS

T Sl TN AT

AMTHAT (A) : 9RT H AT &
I & W Higaew &l Ha
GEIITAT o &C HIH 9 TS ¢ |

FHRUT (R) : o7 R Hivret fow &
AT UTHOT Higerredi & g 98
TTE |

el 3T 1 TFT Y

(A) (A) W & X (R), (A) &
FROTE |

(B) (A) FEl & W (R), (A) 1 Wl
FROT TEI T |

(C) (A) 3R (R) I W&l E |

(D) T(A)T&E(R)TEE |

J-05-13
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36.

37.

o & AYSER AR ¢ I I8

ol & Aeieaeor & o i
T & T H Afect FRET THaT o
PR H &l T oA | TE T el
g AT ?

(A) i
(B) Hicraeh!
(C)
(D) HUTRTH

&l U B I B

IRaR # HEeeT ®i e miefd & g7
T QST AR deh e € fob Svet
SHYHECT .

i. uRaies s & @ SAw
X A & A Ry &9 H

TS E |

ii. o©T URae Tdiareai & are
ST TR SRl o ROT € |

iii. TNER ® T T H HROTE |

iv. ST TeHitge Hiepaar & @y

ToTHITTR € & FraIfad ¢ |
@W‘cﬂﬂ'ﬂ??ﬁ':
(A) 1i3Wii (B) i 3f¥iii
(C) ii R iv (D) iii 3 iv

T W 3[R ANENSAT % GrReehiol &

ey o TeAferiad o @ s 98l 7@ € 2

(A) [T TEIE R W de g
(foamaes) & 3T STH AUl g
forameam 8 € |

(B) &SI T A9 H H fermn ¥ |

(C) T¥9 T ¥HE & 3R Higomd
FTARTRA € |

(D) W& H I B STIYUT T
T FeAlfadr FUAN AT IR
3 I YHTE ST @M |
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38.

39.

40.

41.

42.

The proportion of the aged (60+)
population to the total population of
India shows a trend of

(A) Stagnation
(B) Decline
(C) Increase

(D) Increase in urban but decline
rural areas

What proportion of India’s urban
population live in slums ?

(A) Around one-fifth
(B) Around one-fourth
(C) Around one-third
(D) Around one-half

What  proportion  of  India’s
population does not get safe drinking
water as per WHO ?

(A) 15%
(B) 25%
C) 35%
(D) 45%

Who held the view that Indian tribals
were backward Hindus ?

(A) G.S. Ghurye
(B) Y.B.Damle
(C) A.R. Desai
(D) N.K. Bose

Who among the following has used
the dialectical approach to the study
of Indian Society ?

(A) M.N. Srinivas
(B) D.P. Mukherjee
(C) A. Beteille

(D) Y.B.Damle

Paper-I11
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43.

44.

‘Individuals, families and groups in
the population can be said to be in
poverty when they lack the resources
to obtain the types of diet, participate
in activities and have the living
conditions and amenities which are
customary, or atleast widely
encouraged or approved, in the
societies to which they belong. Their
resources are so seriously below
those commanded by average
individual or family that they are, in
effect, excluded from the ordinary

living  patterns, customs and
activities.
(Townsend, 1979, cf Harlambos and

Hoborn : Sociology, p.297).

From the above paragraph in which
of the following way °‘poverty’ is
defined ?

(A) Poverty is absolute term.

(B) Poverty as ‘Relative
deprivation’.

(C) Poverty as ‘absence of
resources’.

(D) Poverty as ‘exclusion of
activities’.

From the statements given below
choose the code depicting correct
answer to describe the ‘socially
constructed gender inequalities’.

(a) Hormonal and chromosomes
differences between male and
female.

(b) For similarly qualified persons,
men favoured over women.

(c) Men and women are thought to

possess  different  physical,
emotional and mental
capabilities.

(d) Practice of dowry has increased
among the educated middle class
in India.

Codes :

(A) All statements (a), (b), (c) and

(d).

(B) (b)and (c) but not (a) and (d).

(C) (a), (b) and (d) but not (c).

(D) (b), (c) and (d) but not (a).

J-05-13



38.

39.

40.

41.

42.

YRA Hl FoT G H FF (60+) F

SEEAT T 3T R Mgh <l S € 2

(A) e

(B) e

©) =

(D) & & § gig W= UHIT &7 o
UNCC

TR & TR G w1 fha
3T T STl § Harg &am & 2
(A) T UrEEt e

(B) T UH-HreE few

(C) AT Th-fefers

(D) OFTHT 37ET |

fava W@eg §ed % 3TER 9RA &
SHEEAT 1 THT ST TR U ST
T U@y ?
A) 15%
B) 25%
©) 35%
(D) 45%

g YR Tl & T aRAE SHeaat
e &g off 2

(A) Shoa, g

(B) amEt. ST

(C) TR, I8

(D) WA a9

fffed & ¥ e 9RaE 99 &
I & Ul §5IcHS SUNTH &l ST
fFar & 9

(A) THUA. st

(B) St gt

(C) wsd

(D) arEat. et

J-05-13
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43.

44.

‘T, INERT R SIS & THE
H1 39 fefq § TRIS Fel ST Tl 8, ST
IH RN & USR, [HAham |
TIOIRTAT § HE B SR S Se @i
ot ok gEglaud w&r &, s
URUNE & AT HH F HH S U A
M 9 Ued 3R SFART &,
g o 9oy TEd & | 3% 99T I
F9 & % T IR H fEd Al A
IRAR N 3= SAUAT U ST SR
I HROT W e T adiehT, IO
3R fopamehettal | aifad gid & |
(T3S, 1979, WY : EETHAG TUE
BT, RS, g2 297)
ST W § fEfetEd aleer § 9
TS BT S AT fehaT 7T & 2
(A) TR SAaMHEgTar & w9 |
(B) THET “qmdferd deEr % w9 H
(C) RIS “WHE & 7 8 &% &9 1
(D) TRl ATl % SESRT
w9 q

T 5 e ug ok A {93 $ei T e

A T T B ST IS T F HiHdT

ST STEHAAT T 0 HIAT &

(a) T¥9 3R & & g gEH SR
I T 3R |

(b) UM &I ¥ IrF A & o,
ot &t otdem qout ® e foran
ST |

(c) UM S € T gow X fom o
AT AT et € |

(d) T&T Bl o7 R | Torferd weas o

HEETEE |

HT:
(A) & F (a), (b), (c), (d)
(B)  (b) 3 (¢) T (a) 3T (d) T
(©) (a), (b) ¥ (d) R (c) T
(D) (b), (c) 3 (d) T (a) T
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45.

46.

47.

48.

Given below are two statements —

Assertion (A) and Reason (R). Pick

the right answer from the codes :

Assertion (A) : The problem of
‘dowry deaths’ is typically
prevalent among the ‘emergent
urban middle class’ in India.

Reason (R) : The law of inheritance
is  discriminatory = against
women in India.

Codes :

(A) Both (A) and (R) are false.

(B) (A)is true, but (R) is false.

(C) Both (A) and (R) are true and
(R) is not correct explanation
of (A).

(D) (A) is true and (R) is correct
explanation of (A).

The value of an individual’s labour
power which is ‘left over’ when an
employer has repaid the cost
involved in hiring a worker is called
in Marxian term

(A) Use value

(B) Surplus value

(C) Exchange value

(D) Left-over value

The ‘collective bargaining’ usually

centres around

(A) share in profit, job security and
good working conditions

(B) job satisfaction, job security
and new technology

(C) exploitation, profit generation
and reinvestment

(D) corporate responsibility, global
networking and profit sharing

“Integrate the working class into
capitalist societies, making them less
likely to become a radical or
revolutionary force.” This statement
is related to

(A) Political Parties

(B) Interest Groups

(C) Trade Unions

(D) Peer Group

Paper-I11
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49.

50.

51.

52.

53.

The average number of live-born
children produced by women of
childbearing age in a particular
society, called

(A) Morbidity Rate
(B) Mortality Rate
(C) Fertility Rate

(D) Fecundity Rate

“The economic perspective that
believes that free market forces,
achieved by minimizing Government
restrictions on business, provides the
only route to economic growth.” This
statement explains the concept of

(A) Post modernity
(B) Neo-liberalization
(C) Neo-Marxism

(D) Neo-Fordism

Which of the following does not
cause ‘global warming’ ?

(A) Greenhouses effects

(B) Rise in the earth’s temperature
(C) Nano-technology

(D) Industrial development

The Domestic Violence Act was
passed in which of the following
years ?

(A) 1988 (B) 2001
(C) 2004 (D) 2005
Who among the following is
associated with ‘Human
Development Index (HDI) for

measuring the level of development
among various countries ?

(A) Raymond Firth

(B) Mahabub-ul-Haque
(C) M.N. Srinivas

(D) A.R. Desai

J-05-13



45.

46.

47.

48.

T qF FET — SATEHRH (A) SR HROT

(R) 5@ ™ & | A9 ST el ¥ W W

T T B

AWHYT (A) : TesT % BRI FF© A
U@ 9Rd B WA TRE T
7 % &9 33 T F e ¢ |

HRUT (R) : STHFR FH HET 9RT |
AigcTall o fa%g wevTe &Il € |

FH:

(A) (A) 3T (R) THT 3T & |

(B) (A)¥H & W (R) ITAT |

(C) (A) &R (R) H I3 & &R (R),

(A) = T&l == T

(A) I & 3R (R), (A) & &

Y |

(D)

T H AT * I T H
AeeRl U § ol el Sl € S
e g1 38 S % fou qaE few
T e § & ST § 2

(A) ST g

i et fefoa
(B) S o=, S gem iR "a
s

(C) 90T, TNT 3t I ST AT
(D) FHARGRE SR, dvas®
AR SR AT TG H ST

“sifes ot T YS! AT B Uehishd
FH dlh 37 SUART I SHIfahRI §cl
T B WA HH B — T TR 6
ey fored & 2

(A) TSHITTH it &

(B) T&d wyer ¥

(C) USIER &ei ¥

(D) el T @
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49.

50.

51.

52.

53.

% GO oY W, yEa-and 3§ &
AfeeTsl gRT 30 Sifad S seel &
3 T Wl e A &

(A) TR 5T
(B) I

(C) VT 8T
(D) SRR 3T

“3fares 9fie, s AT € % =gadE
W WHR Uqa I HH Hh U
W= ISR VIRt & e gatg &
THA A0 WSH Al & 17 TE e
foraent STauRoT B W AT g 2

(A) S-S
(B) T9-3TRIHOT
(C) o-ATeRETg
(D) TA-HIEAR

frfafea 4 @ a1 v Soteor =&
I~ HLAT 2

(A) &R T (30 BTs) wHe
(B) Ut & ATOHEA H S@iet
(C) =r-virenfirent

(D) 3fienfTes faehr

e e afutem fre oo § o
3T 9

(A) 1988
(C) 2004

(B) 2001
(D) 2005

fafy=r <o o fosm & WX & A
o8 e fare gawie (T9.21.3TE)
Frefefad & 9 fohaer arer graf-ed & 2

(A) TS wd
(B) WEIS-ScT-Eh
(C) THTA. sfitara
(D) TR I6E
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54.

5S.

56.

57.

58.

The General Agreement on Trade in

Services (GATS) suggests

(A) cross border trade in education

(B) localization of education

(C) only state funding in education

(D) Corporate funding in primary
and state funding in
professional education

Who is the author of the book “Tribal
Movements in India” ?

(A) M.S.A.Rao

(B) Ghanshyam Shah

(C) K.S. Singh

(D) S. Fuchs

Who among the following is not a
Scheduled Tribe of India ?

(A) Bhils

(B) Santhals

(C) Gurjars

(D) Ho

Which one of the following is not

correct with regard to peasant ?

(A) The peasant represents little
tradition.

(B) The peasants in India are
predominantly represented by
the middle strata of caste
hierarchy.

(C) The peasants are dependants on
land for the mainstay of their
livelihood.
Though the peasants are
dependent on land for the
mainstay of their livelihood,
they resort to several other
activities for their livelihood
security.

(D)

Which one of the social movements
in rural India can be termed as an
example of ‘old’ social movements ?
(A) Environment movements

(B) Peasant movements

(C) Ethnic movements

(D) Regional autonomy movements
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59.

60.

61.

Which one of the following concepts
are not replaced by Sanskritization
by M.N. Srinivas ?

(A) Brahminization and
Sudraisation

(B) Brahminization and
Kshatriyaization

(C) Kshatriyaization and
Sudraisation

(D) Brahminization and
Westernization

Which one of the following is not a

features of caste system ?

(A) Endogamy, purity and
pollution, ritual hierarchy and
ascribed occupation.

(B) Exogamy, purity and pollution,
ritual hierarchy and ascribed
occupation.

(C) Endogamy, purity and

pollution, ritual hierarchy and

achieved occupation.

Monogamy, purity and

pollution, secular hierarchy and

ascribed occupation.

(D)

Match List — I with List — II and
mark the correct code given below :

List -1 List —II
(Authors) (Books)
a. Mekim Marriot i. India’s
Village
b. M.N. Srinivas ii. Indian
Village

c. B.R. Chauhan
d. S.C. Dube

iii. Village India
iv. A Rajasthan
Village
Codes :

a b c d
(A) i i i v
B) i i 1 v
(C) i 1 vl
(D) v i il i
J-05-13



54.

5S.

56.

57.

58.

Jareti § AR W FE AT (12)

ERIGIN

(A) fereT 9 97 R SR

(B) foret o TTHi=eRioT

(C) Toret & Shoret o A=

(D) WAME H HRARS R &9 T&H
FAT R A 9187 § T
FRT 9 ST AT

TEH B § 2

(A) THTETE IF
(B) =AM W@
(C) *uw fw
(D) TH. Fd

IRA | ST ST At 5 9
i | T ?

(A) el

(B) TIA

(C) TR

(D) @

Wiqe feham & Ty § o1 Tl el € 2

(A) M & WO & AfdEEE
FATE |

(B) 9Rd H RO S HOHeH
% T o gRT MU e g
T

(C) Tram 1o Siifeshr THaTE & TR

% feTw i oT et & |

T =it et Shfeer Fete &

IR & faw gy w enfya

o it S M & T F

3 T e | AT e &

(D)

UTHIOT IR T Qg AT ARt i
R TSI SR T STERT el
ST HehelT & 2

(A) STATERIT SR

(B) Tam 3o

(C) oI T=er

(D) & =T TSI
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59.

60.

61.

frfafga & @ &9 d@ Hehoo T Hl
Leca e S o s M- C M SR 2 M
yfcreentua et foham o & 2

(A) STEHUIHRIT 3R IETHIOT

(B) STEHUIIHUT Y &ifreftehor

(C) eIfreRTor Y SEIehRoT

(D) STEHOMHIOT 37 Ufe=reehior

ffefad § & 9 d Sid e @

et =&t & 2

(A) 3idfeere, Ofgsdr SR wguT,
ITRIME  USHHH IR U
E2EEeIp)

(B) dfefoems, ufemar X wgwon,
ITRIME  UEHHA IR U
E2EEeIp)

(C) didfeame, ufgsdr ik wgum,
S O G G 2 e | L
E2EEeIp)

(D) U foame, uigsar Sfik wguw,
UatRY  USEEH SR UEW
S Crep)

gar — [ gt — 11§ gofera sifse

R A T T FI F TE Fe H T
FHIT
i | =i - 11
(TE) (TT)
a. HfHH ANES i. sfeam faosT
b. TATA. AfFaE i, 3fead faeist
c. MW T iii. faeis feam
d. T4 3o iv. T TS
farerst
FH:

a b c d
(A) 1 i v
B) 1 1 v
C m 1 v il
D) v 1 1 1
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62.

63.

Match List — I with List — II and mark
the correct code given below :
List -1 List — 11
(Authors) (Books)
a. M.N. Srinivas 1. Caste in
India : Their
Mechanism,
Genesis and
Development

b. B.R. Ambedkar
c. G.S. Ghurye

1. Diversities

1i1. Dominant
Caste and
Other Essays

iv. Caste and
Race in
India

d. D.P. Mukherjee

Codes :

(A) i il i v
B) i i i v
© iv i i i
D) i i i v

Match the items in List — I with the
items in List — II and choose the
correct answer from the codes given
below :
List -1 List — 11
a. Social 1. Karl Marx
evolution
b. Positivism 1. William
Ogburn
c. Mode of 1ii. Auguste
Production Comte
d. Cultural Lag iv. Herbert
Spencer

Codes :

a b c d
(A) 1 i i iv
B i v i i
(©) iv i i il
(D) i i v i
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64.

65.

66.

67.

Which one of the following is not a
demand of peasant movements in
India ?

(A) Land Distribution
(B) Fertilizer Subsidy
(C) Tenancy Rights

(D) Higher wage for agricultural
labour

Who defined peasants as ’small
agricultural producers, who, with the
help of simple equipment and the
labour of their families, produce
mostly for their own consumption,
direct or indirect, and for the
fulfilment of obligations to holders of
political and economic power’ ?

(A) A. Beteille

(B) T. Shanin

(C) A.R. Desai

(D) A.V. Chayanor

In Indian context increase in slum
population depicts

(A) an extension of rural poverty
(B) an extension of rural prosperity

(C) an  extension  of
prosperity

urban

(D) aprocess of urbanization

Which one of the following is not a
push factor of rural to wurban
migration ?

(A) Rural unemployment

(B) Increasing practice of dowry in
rural areas

(C) Rural poverty

(D) Decline of cottage and
household industry in rural
areas
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62. I — 1 FEr — 11 § FAfold AT |
aﬁ@ﬁ%%mw%:
=t - 1 = - 11
(TTE) (TTH)
a. AT, SitHam@ 1. B 9 e
UL
HohtToH,
SHigY T
SATTHS
b. 1.3, eTEEH  ii. AT
c. Sug. T iii. SiftFe Fre
Tug AT
T
d. Shor. TSt iv. R TS
ERlEER
E T
a b c d
(A) i i i iv
B) i i i iv
©) iv i i i
M) i i i iv
63. T — 1 & 9&F H G — I /G &
1 gl I SR A9 KT T e
ﬁﬂﬁﬁ?ﬁ%‘l@:
e - 1 = - 11
a. QTSI i. hreT OTeRd
foerashe
b. FeHRICH ii. fafem
3T
c. ITURA H TR {ii. ST DI
d. TRpiae faeism T iv. g6 TWaET
E T
a b c d
(A) i i il v
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Ethnicity is defined with reference to

(A) inherited and achieved socio-
cultural attributes

(B) inherited political positions and
achieved economic attributes

(C) inherited socio-cultural attributes

(D) achieved socio-cultural attributes

Which one of the following is not a

feature of informal sector ?

(A) Absence of effective
protection

(B) Absence of employment security

(C) Absence of effective trade
unionism

(D) Absence of gender segregation

legal

Bonded labour is a

(A) cause of rural poverty and
illiteracy.

(B) cause of prevailing hegemony
of upper castes.

(C) product of rural poverty but
cause of illiteracy and
hegemony of the upper caste
over the lower castes.

(D) Product of rural poverty,
illiteracy and hegemony of
upper castes over the lower
castes.

The Juvenile delinquents in India
belong to the age group of

(A) Below 12 years

(B) Below 14 years

(C) Below 18 years

(D) Below 20 years

The average size of landholding of

Scheduled Tribes is

(A) higher than the Scheduled Castes

(B) lower than the Scheduled Castes

(C) similar to those of the
Scheduled Castes

(D) higher than  the
Backward Classes

Other

73.

74.

75.
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The social development strategy aims
to ensure that

(A) economic  development s
achieved by integrating
national economy with
multinational corporations and
their corporate social
responsibility.

(B) collective voice of trade unions
is protected and their concerns
are addressed properly.

(C) each section of society is
recognized as resource who
needs to be benefited from
economic  development to
ensure that their educational,
employment, health, other
basic necessities of lives are
fulfilled and opportunities be
provided for the realization of
their full potential.

(D) Development process should
protect the balance between
tradition and modernity.

In the wake of globalization Indian
economy has

(A) reassorted its commitment to
socialist path of development.

(B) reoriented to mixed economic
path.

(C) rejuvenated the Gandhian
models of self sufficiency.

(D) opened up to economic neo-
liberalism.

Gary Slapper and Steve Tombs have
studied

(A) White collar crime
(B) Cyber Crime

(C) Corporate Crime
(D) Organized Crime
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